PR Received dated 29 Aug 2016 - 4 Sep 2016

Offices Supplies & Consumble Parts

Post Dated 5 Sep 2016

Serial PR No. LA Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status A G
Date site Dated
1 11607333 29-Aug-2016 CONZZz29723  |PREFLEX BACK-UP ROLL COMPLETE SET DWG 532458 4.00[ Set SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 12-Sep-2016
2 11607213 29-Aug-2016 CONZZz02678 [LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 60.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
3 11607363 29-Aug-2016 CONZZ06089 |ELECTRICAL PLASTIC BOX SIZE 2x4" 20.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
4 11607309 29-Aug-2016 CONZZ06123 |CABLE TIES CT-150-3 LONG = 150 MM.( 6") 2,000.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
5 11607310 29-Aug-2016 CONZZz07319 [CONDUIT LB 3/4" WITH COVER 5.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
6 11607212 29-Aug-2016 CONZZ08602 [CABLE SIZE 3x2.5 SQMM. TYPE VCT 100.00| Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
7 11607304 29-Aug-2016 CONZZ08602 [CABLE SIZE 3x2.5 SQMM. TYPE VCT 100.00| Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
8 11607324 29-Aug-2016 CONZZ13508 [CONDUIT IMC 1/2" 20.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
9 11607591 1-Sep-2016 CONZZ15254  [SELF-TAPPING SCREW 1-1/2" 50.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
10 11607363 29-Aug-2016 CONZZz18870 [TOGGLE SWITCH OF LIGHTINGSYSTEM (FLUORESCENT) 30.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
11 11607591 1-Sep-2016 CONZZ30706 |wnfidawaradn 50.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
12 11607591 1-Sep-2016 CONZZ31060 |n1wmviasngsn AEROSEAL munaussy 700 asu 5.00| Can THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 12-Sep-2016
13 11607480 1-Sep-2016 CONZZz31425 |PRECAST FOR POST POS 1 153.00| PIECES JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 12-Sep-2016
14 11607548 1-Sep-2016 CONZZz31619  [TIRE 205/70R15 "MAXXIS" MA-579 (enguan) 4,00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 12-Sep-2016
15 11607012 29-Aug-2016 CONZZ06029  [PAINT BRUSH 1 1/2" 10.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
16 11606872 29-Aug-2016 CONZZ13709 [LEAD FOR KRESS 20.00( Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
17 11607321 29-Aug-2016 CONZZz18363 |AIR HOSE ID.3/8"" 400 PSI 100.00( Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
18 11607429 29-Aug-2016 CONZZ18526  [PAINT BRUSH 22 mm (%fiu) 60.00[ Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
19 11607320 29-Aug-2016 CONZZz18552 [GRIP HOSE D.13-16 MM 15.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
20 11607078 29-Aug-2016 CONZZz31245 [diudesesne auie OX was 19-25 "ORBIT" 15.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
21 11607477 1-Sep-2016 STA2000153  |Aamivaheanedia e 1/2" 10.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
22 11607477 1-Sep-2016 STA2000956 [viatihvisaneananin sueh P 5.00| Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
23 11607477 1-Sep-2016 STA2000957 |«eviavivivatineniun "DONMARK" DO1 10.00{ Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
24 11607477 1-Sep-2016 STA3000072 Aamintadlasne awe 1/2" 5.00f Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
25 11607477 1-Sep-2016 STA3000084 anaaudmsulatdniasn 10.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
26 11607477 1-Sep-2016 STA3000368  |wnuinenlevnindu SIZE 402-01 10.00[  Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
27 11607473 1-Sep-2016 STA4006621  |ACRYLIC ROOF SEALER "SISTA" D100 (2KG./CAN) 42.00| Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
28 11607405 29-Aug-2016 STA4006742 Waragasnmelna BLACK BEAR fu 840 ufinznsn1wle 1.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
29 11607478 1-Sep-2016 STA4006757 |DRAGA EPOXY Il (adn &wand 1) (4KG./CAN) 6.00| Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 12-Sep-2016
30 11607305 29-Aug-2016 CONZZ01624 [FAN MOTOR 24 VDC. DIA.12"" ( OLD TYP TD2738 ) FOR FANTUZZI 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 12-Sep-2016
31 11607325 29-Aug-2016 CONZZ08955 [FAN MOTOR 24VDC.DIA.10" FOR AIR CONDITION SYSTEM FANTUZZI 2.00| Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 12-Sep-2016
32 11606864 29-Aug-2016 CONZZ15469 |OIL TEMPERATURE TRANSMISSION P/N 2516008 FOR FANTUZZI 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 12-Sep-2016

Page 1 of 2




PR Received dated 29 Aug 2016 - 4 Sep 2016

Offices Supplies & Consumble Parts

Post Dated 5 Sep 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11607322 | 29-Aug-2016 | CONZZ16683 |CLAMP HOSE 1 3/4""-2 5/8"" P/N 5P0597 (STAINLESS) FOR FANTUZZI 10.00[ Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 12-Sep-2016
34 11607381 1-Sep-2016 STA9999999  |wmdnsuduudan Koken fu 4749N-250 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 12-Sep-2016
35 11604713 | 29-Aug-2016 | CONZZ06764 |BOLT&NUT HEX.HEAD  M6-1x40 mm.(CLASS 8.8) FOR VEHICLE 60.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
36 11607017 | 29-Aug-2016 | CONZZ06777 |BOLT&NUT HEX.HEAD  M10-1.5x30 mm.(CLASS 8.8) 70.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
37 11607019 | 29-Aug-2016 | CONZZ08024 |BOLT HEX.HEAD(CLASS 8.8) M24-3x70 mm. 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
38 11607026 | 29-Aug-2016 | CONZZ08140 |SPRING WASHER DIA.8 MM 70.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
39 11607481 1-Sep-2016 CONZZ08588  |H-BEAM(STEEL)JIS G3192 DIM.100x100x8 mm.L=6MT 2.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
40 11604725 | 29-Aug-2016 | CONZZ08596 |BOLT & NUT HEX.HEAD  M5-0.8x15 mm. 50.00|  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
41 11607311 | 29-Aug-2016 | CONZZ08844 |CONDUIT COUPLING IMC 1/2" 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
42 11606866 | 29-Aug-2016 | CONZZ15047 |SPRING WASHER DIA.3/8" FOR VEHICLE 20.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
43 11607046 | 29-Aug-2016 | CONZZ16419 |BOLT HEX.HEAD (CLASS 8.8)M10-1.5x25 mm. 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
44 11607043 | 29-Aug-2016 | CONZZ18426 |SOCKET HEAD CAP SCREW M16-2x40 (MAT. STAINLESS) 200.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
45 11607428 | 29-Aug-2016 | CONZZ20157 |U-BOLT WITH NUT,WASHER DIA.2 1/2"#END THREAD M12 40.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
46 11607479 | 1-Sep-2016 CONZZz21024 |STEEL PLATE DIM.1525x3000x12 MM. 1.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
47 11607479 | 1-Sep-2016 CONZZ23163 |SQUARE STEEL TUBE  DIM.120x120x12.5MM,L=6 M 6.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
48 11607315 | 29-Aug-2016 | CONZZ28551 |JOBBER DRILLS (HSS) DIN338 DIA.8.5x117 MM 10.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
49 11607034 | 29-Aug-2016 | CONZZ28881 |SPRING WASHER SPECIAL MB8(STAINLESS STEEL) 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
50 11606910 | 29-Aug-2016 | CONZZ29402 |NUT M10-1.5 (STAINLESS) 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
51 11607378 1-Sep-2016 CONZZ30092 EKIT'?ETF;E\L%SF&I\IAZE20X125X15mm'(PORT 120-125-15/2.5) 8.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
52 11607378 | 1-Sep-2016 CONZZ30093 |GUIDE RINGS DIA.80x85x15mm.(PORT 080-085-15/2.5) MAT:PTFE+BRONZE 8.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
53 11607593 1-Sep-2016 CONZZ31599 |CONNECTOR FEMALE 16A 230V 3PIN (2P+E) TYPE WPCP316-6 "CLIPSAL" 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
54 11607474 | 1-Sep-2016 CONZZ31645 |SQUARE RING NBR 90 SH.A ID.10.0x1.65x2.0 MM. 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
55 11607474 | 1-Sep-2016 CONZZ31646 |SQUARE RING NBR 90 SH.A ID.22.30x2.10x2.62 MM. 50.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016
56 11607590 | 1-Sep-2016 STA4006743  |°E-F DRILLING SCREW HEX.FLANGE SIZE NO.#12x24G, L=25 MM.(500 1.00|  box SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 12-Sep-2016

PCS/BOX)

Page 2 of 2




